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1. Consider the following statements regarding. "The Financial Action Task Force (FATF) ".

1) Itis an inter-governmental organization established to set standards and promote effective
implementation of legal, regulatory and operational measures for combating money laundering,
terrorist financing.

2) It was formed in 1989 by the G7 Summit which was held in Paris.

Which of the statements given above is/are correct?

a) lonly

b) 2 only

c) Bothland?2

d) Neither 1 nor 2

2. Small tea growers will have the biggest role to play in shaping the future of tea sector in India: Shri

Piyush Goyal. In this context consider the following:

1) The Indian Tea Association’s (ITA) played an instrumental role in the development of the tea
industry, since its inception in 1881, 141 years ago.

2) Indian tea Industry is 2nd largest in world.

3) The Darjeeling Tea, also known as "Champagne of teas," worldwide because of its flowery scent
and Assam tea, a symbol of India’s global recognition.

Select the correct answer from the codes below:

a) 1and 2 only

b) 2 and 3 only

c) 1and3only

d) 1,2and 3

3. ‘Loss and Damage Mechanism’ under the United Nations Framework Convention on Climate
Change was adopted at which Conference of the Parties (COP)
a) COP19 in Warsaw, Poland
b) COP-21, Paris
¢) COP-16, Durabn
d) COP 26, Glasglow
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4. Consider the following statements, With reference to James Webb Space Telescope
1) Itisais a joint venture between of USA, CANADA and Europe space agencies
2) It doesn’t not orbit around the Earth rather it orbits around second Lagrange point or L2.
3) It aims to see the first galaxies that sprung up in the young universe after the Big Bang
Select the correct answer using the code given below.
a) 1land 3only
b) 2 and 3 only
c) 2only
d) 1,2and 3

5. Consider the following statements regarding the Regional Comprehensive Economic Partnership

(RCEP) and the Trans-Pacific Partnership (TPP):

1) RCEP comprises only 10 ASEAN nations while TPP comprises of all countries around the
Pacific Ocean.

2) India is not a member of TPP.

Which of the above statements is/are correct?

a) 1only

b) 2 only

c) Bothland?2

d) Neither 1 nor 2

6. Which of the following best defines the concept of Balance of Payments?
a) It records the transactions in goods, services, and assets between residents of a country with the
rest of the world for a specified time period.
b) It records the transactions in goods, services, and assets between citizens of a country with the
rest of the world for a specified time period.
c¢) It records exports and imports in goods and services and transfer payments.

d) None of the above

7. Consider the following statements about Mangrove Alliance for Climate:
1) The alliance will raise awareness about the role of mangroves as a “nature-based solution to
climate change”.
2) Itis an initiative led by the United Arab Emirates (UAE) and Indonesia.
3) India is not part of this alliance.

Which of the statements given above is/are correct?

az 1 onlx
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b) 3only
c) land2only
d) 1,2and 3

8. Which of these following countries of the Middle East open out to the Persian Gulf?
1) Kuwait
2) Babhrain
3) Iraq
4) Yemen
5) Saudi Arabia
Select the correct answer using the codes given below:
a) 1,2and 3only
b) 2,3,4and5only
c) 1,2,35o0nly
d) all of the above

9. With reference to society during Rigvedic age, consider the following statements:
1) The society was classified on the basis of profession and not on the basis of birth.
2) The occupations had then become hereditary.
3) The members of the same family took same professions and thus belonged to same varnas.
Which of the statements given below is/are correct?
a) 1land3only
b) 1only
c) 2and 3only
d) 1,2 and 3 only

10. Consider the following statements:
1) Aryans were predominantly matriarchal whereas Indus Valley Civilization is predominantly
Patriarchal
2) Aryans were predominantly rural whereas Indus Valley people are pre-dominantly urban
3) Both civilizations used iron implements
Which of the above statements is/are incorrect?
a) 1lonly
b) 1and 2
c) land3
d) 3 Only
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